Amplitud de Arcos (B)

Nombre:

Fecha:

Calcule la amplitud angular de cada arco.

Didmetro = 16 km

/ABC =

Didmetro = 52 cm

/GHJ =

35.06 mi-_
F

Didmetro = 82 mi

/DEF =

1
1
1
1
1

1078.18 km

N

Didmetro = 706 km

/RST =
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Amplitud de Arcos (B) Respuestas

Nombre:

Fecha:

Calcule la amplitud angular de cada arco.

Didmetro = 16 km

/ABC = 2332 » 360 = 167°

l6xm

Didmetro = 52 cm

LGH] = 2223 % 360 = 47°

35.06 mi-_
F

Didmetro = 82 mi

/DEF = 339 360 = 49°

1
1
1
1
1

1078.18 km

N

Diametro = 706 km

/RST = 47218 5 360 = 175°
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